## Czechoslovak Mathematical Journal

# Song Yeoul Park; Yong Han Rang; Il Hoo Jung Optimization and identification of nonlinear uncertain systems 

Czechoslovak Mathematical Journal, Vol. 53 (2003), No. 4, 861-879

Persistent URL: http://dml.cz/dmlcz/127845

## Terms of use:

© Institute of Mathematics AS CR, 2003

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://dml.cz

# OPTIMIZATION AND IDENTIFICATION OF NONLINEAR UNCERTAIN SYSTEMS 

Jong Yeoul Park, Yong Han Kang, and Il Hyo Jung, Pusan

(Received November 25, 2000)

Abstract. In this paper we consider the optimal control of both operators and parameters for uncertain systems. For the optimal control and identification problem, we show existence of an optimal solution and present necessary conditions of optimality.

Keywords: optimal control, Galerkin method, nonlinear systems, identification problem, necessary condition

MSC 2000: 49J20, 49K20, 49K24

## 1. Introduction

Many physical systems arising from thermodynamics, electrodynamics, and population biology are modelled by differential equations, integrodifferential equations, and nonlinear evolution equations with uncertain parameters or undetermined operators.

In this paper we consider differential equations on Banach spaces as follows:

$$
\left\{\begin{array}{l}
\dot{x}+A(t, x)=g(t, x), \\
x(0)=x_{0},
\end{array}\right.
$$

where $A$ is a nonlinear monotone operator from a Banach space $V$ into its dual $V^{*}$ and $g(t, x)$ is a nonlinear but not necessarily monotone operator. An associated

[^0] of the Korean Science Engineering Foundation and the RRC in University of Ulsan.
control system may be described as
\[

\left\{$$
\begin{array}{l}
\dot{x}+A(t, x, \lambda)+B x=g(t, x, \lambda)  \tag{CP}\\
x(0 ; \lambda)=x_{0}(\lambda), \quad \lambda \in Q_{m}, \quad B \in \mathscr{P}_{a, b},
\end{array}
$$\right.
\]

where $Q_{m}$ is a compact metric space and $\mathscr{P}_{a, b}$ is a suitable subset of $\mathscr{L}\left(V, V^{*}\right)$. Define the cost functional $J(\cdot, \cdot)$ by the form

$$
J(\lambda, B)=\int_{I} f(t, x(\lambda, B)(t), \lambda) \mathrm{d} t
$$

where $I=[0, T], T<\infty$ and $x(\lambda, B)$ is a solution function of (CP). The problem is to find $\left(\lambda^{0}, B^{0}\right) \in Q_{m} \times \mathscr{P}_{a, b}$ (admissible set) so that

$$
\begin{equation*}
J\left(\lambda^{0}, B^{0}\right) \leqslant J(\lambda, B) \text { for all }(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b} \tag{P}
\end{equation*}
$$

In recent years optimal control and identification problems have been extensively studied by many authors (see [5], [6], [10], [12], [11] and the references therein) and more generally, functional differential inclusions have been studied by Ahmed and Papageorgious (see [1], [2], [7], [8] and the references therein). These studies were mainly concerned with the question of existence of optimal controls in the uncertain systems.

In this paper, we study the existence of the optimal solution for problem (CP) as well as the optimal pair for the identification problem ( P ). We also derive necessary conditions of optimality for the identification problem (P).

## 2. Existence and uniqueness of solutions

Let $H$ be a separable Hilbert space and let $V$ be a subspace of $H$ having the structure of a reflexive Banach space, with the embedding $V \hookrightarrow H$ being compact. Identifying $H$ with its dual, we have $V \hookrightarrow H \hookrightarrow V^{*}$, where $V^{*}$ is the topological dual of $V$. The system model considered here is based on this evolution triple.

Let $\langle x, y\rangle$ denote the pairing of an element $x \in V$ and an element $y \in V^{*}$. If $x, y \in H$, then $\langle x, y\rangle=(x, y)$. The norm in any Banach space $X$ will be denoted by $\|\cdot\|_{X}$.

Let $\left\{e_{1}, e_{2}, \ldots\right\}$ be a basis of $V$ and set

$$
H_{n}=\operatorname{span}\left\{e_{1}, e_{2}, \ldots, e_{n}\right\}
$$

In the $n$-dimensional space $H_{n}$ we introduce the scalar product of Hilbert space $H$. Note that $H_{n} \subseteq V \subseteq H$.

Let $0<t \leqslant T<\infty, I_{t} \equiv[0, t], I \equiv[0, T]$, and let $p, q \geqslant 1$ be such that

$$
1 / p+1 / q=1 \quad \text { and } \quad 2 \leqslant p<\infty
$$

For simple notation, we write $L_{r}^{t}(X) \equiv L_{r}\left(I_{t}, X\right), L_{r}(X) \equiv L_{r}(I, X)$ for $r \geqslant 1$ and a set $X$. For $p, q$ satisfying the preceding conditions, it follows from the reflexivity of $V$ that both $L_{p}^{t}(V)$ and $L_{q}^{t}\left(V^{*}\right)$ are reflexive Banach spaces (see Theorem 1.1.17 of [3]). The pairing of $L_{p}^{t}(V)$ and $L_{q}^{t}\left(V^{*}\right)$ is denoted by $\langle\langle\cdot, \cdot\rangle\rangle_{t}$. In particular, we use $\langle\langle\cdot, \cdot\rangle\rangle \equiv\langle\langle\cdot, \cdot\rangle\rangle_{T}$. Clearly, for $u, v \in L_{2}(H),\langle\langle u, v\rangle\rangle=((u, v))$, where $((\cdot, \cdot))$ is the scalar product in Hilbert space $L_{2}(H)$. Let $\dot{x}=\frac{\partial}{\partial t} x$. Define

$$
W_{p, q}=\left\{x: x \in L_{p}(V), \quad \dot{x} \in L_{q}\left(V^{*}\right)\right\}, \quad\|x\|_{W_{p, q}}^{2}=\|x\|_{L_{p}(V)}^{2}+\|\dot{x}\|_{L_{q}\left(V^{*}\right)}^{2} .
$$

Then $\left\{W_{p, q},\|\cdot\|_{W_{p, q}}\right\}$ is a Banach space and the embedding $W_{p, q} \hookrightarrow C(I, H)$ is continuous. If $V \hookrightarrow H$ is compact, then $W_{p, q} \hookrightarrow L_{p}(H)$ is compact (see Proposition 23.23 of [13]). Let $\mathscr{L}(X, Z)$ denote the space of all bounded linear operators from $X$ to $Z$ and $A^{*}$ the dual of the operator $A$. Let
$\mathscr{P}_{a, b}=\left\{B \in \mathscr{L}\left(V, V^{*}\right):\|B\|_{\mathscr{L}\left(V, V^{*}\right)} \leqslant b\right.$ and $\langle B \xi, \xi\rangle+a\|\xi\|_{H} \geqslant 0$, for all $\left.\xi \in V\right\}$.
Consider the space of operators $\mathscr{L}\left(V, V^{*}\right)$ and suppose that is equipped the strong (weak) operator topology which we denote by $\tau_{\text {so }}\left(\tau_{\text {wo }}\right)$. Given this topology, $\mathscr{L}_{s}\left(V, V^{*}\right) \equiv\left(\mathscr{L}\left(V, V^{*}\right), \tau_{\text {so }}\right)$ is a locally convex linear topological vector space which is sequentially complete. Similarly, $\mathscr{L}_{w}\left(V, V^{*}\right) \equiv\left(\mathscr{L}\left(V, V^{*}\right), \tau_{\text {wo }}\right)$ with the weak operator topology $\tau_{\text {wo }}$ is also a sequentially complete and locally convex topological space. We shall suppose that $Q_{m}$ is algebraically contained in a linear topological vector space and that $Q_{m}$ is a convex and we will denote $Q_{m}$ a compact metric space with a metric $\tau_{m}$. We introduce the following assumptions:
$\mathrm{H}(A) A: I \times V \times Q_{m} \mapsto V^{*}$ is an operator.
(1) $t \mapsto A(t, x, \lambda)$ is measurable.
(2) $x \mapsto A(t, x, \lambda)$ is uniformly monotone and hemicontinuous; i.e., there exists a constant $c>0$ such that

$$
\begin{aligned}
\left\langle A\left(t, x_{1}, \lambda\right)-A\left(t, x_{2}, \lambda\right), x_{1}-x_{2}\right\rangle \geqslant & c\left\|x_{1}-x_{2}\right\|_{V}^{p}, \\
& \forall x_{1}, x_{2} \in V, \quad t \in I, \lambda \in Q_{m} ; \\
A(t, x+s y, \lambda) \xrightarrow{w} & A(t, x, \lambda) \in V^{*}, \\
& \forall x, y \in V, \lambda \in Q_{m} \text { as } s \rightarrow 0 .
\end{aligned}
$$

(3) There exist positive constants $c_{1}$ and $c_{2}$ such that

$$
\langle A(t, x, \lambda), x\rangle \geqslant c_{1}\|x\|_{V}^{p}-c_{2}, \quad \forall x \in V, \quad t \in I, \quad \lambda \in Q_{m} .
$$

(4) There exist a positive constant $c_{3}$ and a function $c_{4}(t) \in L_{q}\left(I, \mathbb{R}_{+}\right)$such that

$$
\|A(t, x, \lambda)\|_{V^{*}} \leqslant c_{4}(t)+c_{3}\|x\|_{V}^{p-1}, \quad \forall x \in V, \quad t \in I, \quad \lambda \in Q_{m}
$$

(5) $\|A(t+\tau, x, \lambda)-A(t, x, \lambda)\|_{V^{*}} \leqslant O(\tau)\left(1+\|x\|_{V}^{p-1}\right), \quad \forall x \in V, \lambda \in Q_{m}$ and $O(\tau)$ is independent of $\lambda$ and $x$.
(6) $\lambda \mapsto A(t, x, \lambda)$ is continuous.
$\mathrm{H}(g) g: I \times H \times Q_{m} \mapsto V^{*}$ is a map.
(1) $t \mapsto g(t, \cdot, \cdot)$ is measurable.
(2) $x \mapsto g(\cdot, x, \cdot)$ is continuous.
(3) There exist $\alpha \geqslant 0$ and $h \in L_{q}\left(I, \mathbb{R}_{+}\right)$such that

$$
\|g(t, x, \lambda)\|_{V^{*}} \leqslant h(t)+\alpha\|x\|_{H}^{2 / q}, \quad \forall x \in V, \quad t \in I, \quad \lambda \in Q_{m}
$$

(4) $\langle g(t, x, \lambda), x\rangle \leqslant 0$ a.e. $x \in H$.
(5) $g$ is locally Lipschitz continuous with respect to $x$ and for any $b>0$ there exists $L(b)$ such that $x_{1}, x_{2} \in H,\left\|x_{1}\right\|_{H},\left\|x_{2}\right\|_{H} \leqslant b, \| g\left(t, x_{1}, \lambda\right)-$ $g\left(t, x_{2}, \lambda\right)\left\|_{V^{*}} \leqslant L(b)\right\| x_{1}-x_{2} \|_{H}, \quad \forall t \in I, \quad \lambda \in Q_{m}$.
(6) $\lambda \mapsto g(\cdot, \cdot, \lambda)$ is continuous.
$\mathrm{H}(\lambda) \lambda \mapsto x_{0}(\lambda)$ is continuous from $Q_{m}$ into $H$.
$\mathrm{H}(f) f: I \times H \times Q_{m} \mapsto \mathbb{R}_{+}$is an integrable function.
(1) $(t, x, \lambda) \mapsto f(t, x, \lambda)$ is measurable.
(2) $x \mapsto f(\cdot, x, \cdot)$ is continuous; i.e., if $\lambda_{n} \rightarrow \lambda$ in $Q_{m}$, then $f\left(t, \cdot, \lambda_{n}\right) \rightarrow f(t, \cdot, \lambda)$ a.e.

Under the above assumptions we consider the following initial value problem:

$$
\left\{\begin{array}{l}
\dot{x}(t)+A(t, x, \lambda)+B x(t)=g(t, x(t), \lambda)  \tag{2.1}\\
x(0)=x_{0}(\lambda), \quad \lambda \in Q_{m}, \quad B \in \mathscr{P}_{a, b}
\end{array}\right.
$$

For given $x_{0}(\lambda) \in H$, we seek a function $x \in W_{p, q}$ such that (2.1) is satisfied in a weak sense. For $x \in L_{p}(V), \lambda \in Q_{m}$, we set

$$
A(x, \lambda)(t)=A(t, x(t), \lambda), \quad G(x, \lambda)(t)=g(t, x(t), \lambda), \quad t \in I
$$

Note that $A: L_{p}(V) \times Q_{m} \mapsto L_{q}\left(V^{*}\right)$ is bounded, uniformly monotone, hemicontinuous and coercive and also the operator $G: L_{p}(V) \times Q_{m} \mapsto L_{q}\left(V^{*}\right)$ is bounded.

The purpose of this section is to prove the existence and uniqueness of solution for equation (2.1) based on Galerkin approximation.

Let $\lambda \in Q_{m}$ be an arbitrary fixed parameter. We get the following lemma.

Lemma 2.1. If $x^{n} \rightarrow x^{0}$ weakly in $W_{p, q}$, then $G\left(x^{n}, \lambda\right) \rightarrow G\left(x^{0}, \lambda\right)$ in $L_{q}\left(V^{*}\right)$.
Proof. Since the embedding $V \hookrightarrow H$ is compact, the embedding $W_{p, q} \hookrightarrow L_{p}(H)$ is compact as well. Since $x^{n} \xrightarrow{w} x^{0} \in W_{p, q}$, there exists a constant $b>0$ such that $\left\|x^{0}\right\|_{C(I, H)} \leqslant b,\left\|x^{n}\right\|_{C(I, H)} \leqslant b$. By virtue of assumption $\mathrm{H}(g)$ and the embedding $L_{p}(H) \hookrightarrow L_{q}(H) \hookrightarrow L_{q}\left(V^{*}\right)$, we have

$$
\begin{aligned}
\left\|G\left(x^{n}, \lambda\right)-G\left(x^{0}, \lambda\right)\right\|_{L_{q}\left(V^{*}\right)} & =\left(\int_{I}\left\|g\left(t, x^{n}(t), \lambda\right)-g\left(t, x^{0}(t), \lambda\right)\right\|_{V^{*}}^{q} \mathrm{~d} t\right)^{1 / q} \\
& \leqslant L(b)\left(\int_{I}\left\|x^{n}(t)-x^{0}(t)\right\|_{H}^{q} \mathrm{~d} t\right)^{1 / q} \\
& \leqslant L^{*}\left(\int_{I}\left\|x^{n}(t)-x^{0}(t)\right\|_{H}^{p} \mathrm{~d} t\right)^{1 / p}
\end{aligned}
$$

where $L^{*}$ is a constant depending on $p, q, b$ and the Lebesgue measure of $I$. Hence the conclusion follows.

Remark. It is convenient to write system (2.1) as an operator equation in

$$
W_{p, q}^{0}(\lambda) \equiv\left\{x \in W_{p, q} ; x(0)=x_{0}(\lambda)\right\}:\left\{\begin{array}{l}
\dot{x}+A(x, \lambda)+B x=G(x, \lambda)  \tag{2.2}\\
x \in W_{p, q}^{0}(\lambda), B \in \mathscr{P}_{a, b}, \lambda \in Q_{m}
\end{array}\right.
$$

Lemma 2.2. There exists $b>0$ such that

$$
\|x\|_{C(I, H)} \leqslant b, \quad\|x\|_{L_{p}(V)} \leqslant b, \quad\|\dot{x}\|_{L_{q}\left(V^{*}\right)} \leqslant b
$$

for any solution $x$ (if one exists) of equation (2.1).
Proof. If $x$ is any solution of (2.1), then for each $t \in I$,

$$
\langle\langle\dot{x}, x\rangle\rangle_{t}+\left\langle\langle A(x, \lambda), x\rangle_{t}+\langle\langle B x, x\rangle\rangle_{t}=\langle\langle G(x, \lambda), x\rangle\rangle_{t} .\right.
$$

Using the assumptions and the Cauchy inequality, for any $\varepsilon>0$ we have

$$
\begin{align*}
& \frac{1}{2}\left(\|x(t)\|_{H}^{2}-\|x(0)\|_{H}^{2}\right)+\int_{0}^{t}\left(c_{1}\|x(\sigma)\|_{V}^{p}-c_{2}\right) \mathrm{d} \sigma  \tag{2.3}\\
& \quad \leqslant a \int_{0}^{t}\|x(\sigma)\|_{H}^{2} \mathrm{~d} \sigma+\int_{0}^{t}\|g(\sigma, x(\sigma), \lambda)\|_{V^{*}}\|x(\sigma)\|_{V} \mathrm{~d} \sigma
\end{align*}
$$

From (2.3), we have

$$
\begin{aligned}
\|x(t)\|_{H}^{2}+2 c_{1} \int_{0}^{t}\|x(\sigma)\|_{V}^{p} \mathrm{~d} \sigma \leqslant & 2 c_{2} T+\|x(0)\|_{H}^{2}+2 a \int_{0}^{t}\|x(\sigma)\|_{H}^{2} \mathrm{~d} \sigma \\
& +2 \int_{0}^{t}\left(h(\sigma)+\alpha\|x(\sigma)\|_{H}^{2 / q}\right)\|x(\sigma)\|_{V} \mathrm{~d} \sigma
\end{aligned}
$$

Thus we obtain

$$
\begin{aligned}
\|x(t)\|_{H}^{2}+2 c_{1} \int_{0}^{t}\|x(\sigma)\|_{V}^{p} \mathrm{~d} \sigma \leqslant & 2 c_{2} T+\|x(0)\|_{H}^{2}+2 a \int_{0}^{t}\|x(\sigma)\|_{H}^{2} \mathrm{~d} \sigma \\
& +\left(2 / q \varepsilon^{q}\right) \int_{0}^{t}\left(h(\sigma)+\alpha\|x(\sigma)\|_{H}^{2 / q}\right)^{q} \mathrm{~d} \sigma \\
& +\left(2 \varepsilon^{p} / p\right) \int_{0}^{t}\|x(\sigma)\|_{V}^{p} \mathrm{~d} \sigma .
\end{aligned}
$$

Choosing $\varepsilon>0$ sufficiently small and $h \in L_{q}\left(I, \mathbb{R}^{+}\right)$, one can easily verify that there exist positive constants $c_{5}, c_{6}, c_{7}$ such that

$$
\begin{equation*}
\|x(t)\|_{H}^{2}+c_{5}\|x\|_{L_{p}^{t}(V)}^{p} \leqslant c_{6}+c_{7} \int_{0}^{t}\|x(\sigma)\|_{H}^{2} \mathrm{~d} \sigma \tag{2.4}
\end{equation*}
$$

It follows from Gronwall's lemma that the above inequality implies

$$
\|x(t)\|_{H} \leqslant c_{8} \quad \forall t \in I
$$

for some constant $c_{8}$ depending on $c_{6}$ and $c_{7}$. Again, by virtue of assumptions (3)-(4) of $\mathrm{H}(A)$, (3) of $\mathrm{H}(g)$, definition of $\mathscr{P}_{a, b}$ and inequality (2.4), it is easy to verify that there exist positive constants $c_{9}, c_{10}$ such that

$$
\|x\|_{L_{p}(V)} \leqslant c_{9}, \quad\|\dot{x}\|_{L_{q}\left(V^{*}\right)} \leqslant c_{10}
$$

Choosing $b=\max \left\{c_{8}, c_{9}, c_{10}\right\}$, the assertion follows.

Lemma 2.3. The solution of (2.1), if one exists, is unique.

Proof. Let $x_{1}, x_{2} \in W_{p, q}^{0}(\lambda)$ be two solutions of (2.1). Using integration by parts and the monotonicity of the operator $A$ and the definition of $\mathscr{P}_{a, b}$, we obtain

$$
\begin{aligned}
& \frac{1}{2}\left\|x_{1}(t)-x_{2}(t)\right\|_{H}^{2}+c\left\|x_{1}-x_{2}\right\|_{L_{p}^{t}(V)}^{p} \leqslant a \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& \quad+\int_{0}^{t}\left\langle g\left(\sigma, x_{1}(\sigma), \lambda\right)-g\left(\sigma, x_{2}(\sigma), \lambda\right), x_{1}(\sigma)-x_{2}(\sigma)\right\rangle_{V^{*}, V} \mathrm{~d} \sigma
\end{aligned}
$$

By virtue of assumption $\mathrm{H}(\mathrm{g})$, Lemma 2.2, and the Cauchy inequality, for any $\varepsilon>0$ we have

$$
\begin{aligned}
\frac{1}{2} \| x_{1}(t) & -x_{2}(t)\left\|_{H}^{2}+c\right\| x_{1}-x_{2}\left\|_{L_{p}^{t}(V)}^{p} \leqslant|a| \int_{0}^{t}\right\| x_{1}(\sigma)-x_{2}(\sigma) \|_{H}^{2} \mathrm{~d} \sigma \\
& +\int_{0}^{t}\left\|g\left(\sigma, x_{1}(\sigma), \lambda\right)-g\left(\sigma, x_{2}(\sigma), \lambda\right)\right\|_{V^{*}}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
\leqslant & |a| \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& +L(b) \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
\leqslant & |a| \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+(L(b) / 2 \varepsilon) \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& +(L(b) \varepsilon / 2) \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma .
\end{aligned}
$$

Using the compact embedding $L_{p}^{t}(V) \hookrightarrow L_{2}^{t}(V)$, we obtain

$$
\begin{aligned}
\left\|x_{1}(t)-x_{2}(t)\right\|_{H}^{2}+2 c\left\|x_{1}-x_{2}\right\|_{L_{p}^{t}(V)}^{p} \leqslant & (2|a|+L(b) / \varepsilon) \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& +L_{1} \varepsilon \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{V}^{p} \mathrm{~d} \sigma
\end{aligned}
$$

where $L_{1}$ is a constant depending on $b$ and the embedding constant. Consequently, for sufficiently small $\varepsilon>0$, there exists a constant $c^{\prime}>0$ such that

$$
\left\|x_{1}(t)-x_{2}(t)\right\|_{H}^{2}+c^{\prime}\left\|x_{1}-x_{2}\right\|_{L_{p}^{t}(V)}^{p} \leqslant(2|a|+L(b) / \varepsilon) \int_{0}^{t}\left\|x_{1}(\sigma)-x_{2}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma
$$

Using Gronwall's lemma, uniqueness follows from the above inequality.
Theorem 2.1. Under assumptions $\mathrm{H}(A)$ and $\mathrm{H}(g)$, problem (2.1) has a unique solution.

Proof. Let a sequence $\left\{x_{0}^{n}\right\}$ be an approximation of the given initial state $x_{0}(\lambda) \in H$, i.e., $x_{0}^{n}(\lambda) \in H_{n}, x_{0}^{n}(\lambda) \rightarrow x_{0}(\lambda)$ in $H$ as $n \rightarrow \infty$. We consider the sequence $x^{n}(t)=\sum_{k=1}^{n} C_{k, n}(t) e_{k}$ and seek a function $x^{n}$ such that

$$
\left\{\begin{array}{l}
\left\langle\dot{x}^{n}(t), e_{j}\right\rangle+\left\langle A\left(t, x^{n}(t), \lambda\right), e_{j}\right\rangle+\left\langle B x^{n}(t), e_{j}\right\rangle  \tag{2.5}\\
\quad=\left\langle g\left(t, x^{n}(t), \lambda\right), e_{j}\right\rangle, \quad j=1,2, \ldots, n ; \\
x^{n}(0)=x_{0}^{n}(\lambda) ; \\
x^{n} \in L_{p}\left(I, H_{n}\right), \quad \dot{x}^{n} \in L_{q}\left(I, H_{n}\right)
\end{array}\right.
$$

It follows from the existence theorem of Carathéodory for the ordinary differential equation in $\mathbb{R}^{n}$ (see [13]) and Lemma 2.2 that, for each $n \in \mathbb{N}$, the finite dimensional system (2.5) has a unique solution $x^{n}$. It can be seen from Lemma 2.3 that $\left\{x^{n}\right\}$ is contained in a bounded subset of $W_{p, q}^{0}(\lambda)$. Hence, by assumption $\mathrm{H}(A),\left\{A\left(x^{n}, \lambda\right)\right\}$ is bounded in $L_{q}\left(V^{*}\right)$. Since $B \in \mathscr{P}_{a, b},\left\{B x^{n}\right\}$ is bounded in $L_{q}\left(V^{*}\right)$ and also since $L_{p}(V)$ and $L_{q}\left(V^{*}\right)$ are reflexive Banach spaces, there exists a subsequence, again denoted by $\left\{x^{n}\right\}$, an element $x \in L_{p}(V)$ with its distributional derivative $\dot{x} \in L_{q}\left(V^{*}\right)$ and $W \in L_{q}\left(V^{*}\right)$ such that

$$
\begin{aligned}
x^{n} \xrightarrow{w} x^{0} \in L_{p}(V), \\
\dot{x}^{n} \xrightarrow{w} \dot{x}^{0} \in L_{q}\left(V^{*}\right), \\
A\left(x^{n}, \lambda\right) \xrightarrow{w} W \in L_{q}\left(V^{*}\right), \\
B x^{n} \xrightarrow{w} B x^{0} \in L_{q}\left(V^{*}\right) \quad \text { as } n \rightarrow \infty .
\end{aligned}
$$

Combining the assumptions with Lemma 2.1, we have

$$
\begin{aligned}
G\left(x^{n}, \lambda\right) & \rightarrow G\left(x^{0}, \lambda\right) \in L_{q}\left(V^{*}\right), \\
x^{n}(0) & \rightarrow x_{0}(\lambda) \in H, \\
x^{n}(T) & \rightarrow w z \in H \quad \text { as } n \rightarrow \infty .
\end{aligned}
$$

Let $\psi \in C^{\infty}(I, \mathbb{R})$ and $v \in H_{n}$. Using equation (2.5) and integration by parts, one can obtain

$$
\begin{aligned}
& \left(x^{n}(T), \psi(T) v\right)-\left(x^{n}(0), \psi(0) v\right)=\int_{0}^{T}\left\langle x^{n}(t), \dot{\psi}(t) v\right\rangle \mathrm{d} t \\
& +\int_{0}^{T}\left\langle g\left(t, x^{n}(t), \lambda\right)-A\left(t, x^{n}(t), \lambda\right)-B x^{n}(t), \psi(t) v\right\rangle \mathrm{d} t
\end{aligned}
$$

Letting $n \rightarrow \infty$, we have

$$
(z, \psi(T) v)-\left(x_{0}(\lambda), \psi(0) v\right)=\left\langle\left\langle G\left(x^{0}, \lambda\right)-W-B x^{0}, \psi v\right\rangle\right\rangle+\left\langle\left\langle\dot{\psi} v, x^{0}\right\rangle\right\rangle
$$

Using this, one can easily verify that the limit elements $x^{0}, W, z, B x^{0}$ satisfy

$$
\left\{\begin{array}{l}
\dot{x}^{0}+W+B x^{0}=G\left(x^{0}, \lambda\right) \\
x(0)=x_{0}(\lambda), x^{0}(T)=z, x^{0} \in W_{p, q}
\end{array}\right.
$$

Again using equation (2.5) and integration by parts, we have

$$
\frac{1}{2}\left(\left\|x^{n}(T)\right\|_{H}^{2}-\left\|x^{n}(0)\right\|_{H}^{2}\right)=\left\langle\left\langle G\left(x^{n}, \lambda\right)-A\left(x^{n}, \lambda\right)-B x^{n}, x^{n}\right\rangle\right\rangle
$$

By virtue of the fact that $\liminf _{n \rightarrow \infty}\left\|x^{n}(T)\right\|_{H} \geqslant\left\|x^{0}(T)\right\|_{H}$, we obtain

$$
\begin{aligned}
\left\langle\left\langle W, x^{0}\right\rangle\right\rangle & \leqslant \liminf _{n \rightarrow \infty}\left\langle\left\langle A\left(x^{n}, \lambda\right), x^{n}\right\rangle\right\rangle \\
& \leqslant \limsup _{n \rightarrow \infty}\left\langle\left\langle A\left(x^{n}, \lambda\right), x^{n}\right\rangle\right\rangle \\
& \leqslant\left\langle\left\langle G\left(x^{0}, \lambda\right), x^{0}\right\rangle\right\rangle-\left\langle\left\langle B x^{0}, x^{0}\right\rangle\right\rangle+\frac{1}{2}\left(\left\|x^{0}(0)\right\|_{H}^{2}-\left\|x^{0}(T)\right\|_{H}^{2}\right) \\
& =\left\langle\left\langle W, x^{0}\right\rangle\right\rangle .
\end{aligned}
$$

Since $A$ is monotone and hemicontinuous, $W=A\left(x^{0}, \lambda\right)$ (see [13]). Thus the limit element $x^{0}$ satisfies equation (2.2) and hence is a solution of (2.1). The uniqueness follows from Lemma 2.3. This completes the proof.

## 3. Existence of optimality for both operators and parameters

In this section, we consider the identification problem $(\mathrm{P})$ of nonlinear system (2.1). Find a pair $\left(\lambda^{0}, B^{0}\right) \in Q_{m} \times \mathscr{P}_{a, b}$, such that $J\left(\lambda^{0}, B^{0}\right) \leqslant J(\lambda, B)$ for all $(\lambda, B) \in$ $Q_{m} \times \mathscr{P}_{a, b}$, where

$$
\begin{equation*}
J(\lambda, B)=\int_{0}^{T} f(t, x(\lambda, B)(t), \lambda) \mathrm{d} t \tag{3.1}
\end{equation*}
$$

In the following, we assume that the initial datum $x_{0}(\lambda) \equiv x_{0}$ is fixed.

Lemma 3.1. Consider the identification problem (P). Suppose that assumptions $\mathrm{H}(A), \mathrm{H}(g), \mathrm{H}(\lambda)$, and $\mathrm{H}(f)$ hold. Then the mapping $(\lambda, B) \rightarrow x(\lambda, B)$ is continous from $Q_{m} \times \mathscr{L}_{s}\left(V, V^{*}\right)$ to $C(I, H)$ and the functional $(\lambda, B) \rightarrow J(\lambda, B)$ is lower semicontinuous on $Q_{m} \times \mathscr{L}_{s}\left(V, V^{*}\right)$.

Proof. Suppose $\lambda^{n} \rightarrow \lambda^{0} \in Q_{m}$ and $B^{n} \rightarrow B^{0} \in \mathscr{L}_{s}\left(V, V^{*}\right)$. Let $\left\{x^{n}\right\}$ and $\left\{x^{0}\right\}$ denote the solutions of the system (2.1) corresponding to $\left(\lambda^{n}, B^{n}\right)$ and $\left(\lambda^{0}, B^{0}\right)$, respectively. Defining $y^{n}=x^{n}-x^{0}$, one observes that $y^{n}$ is the solution of the problem

$$
\left\{\begin{array}{l}
\dot{y}^{n}(t)+\left(A\left(t, x^{n}(t), \lambda^{n}\right)-A\left(t, x^{0}(t), \lambda^{n}\right)\right)+B^{n} y^{n}(t)  \tag{3.2}\\
\quad=-\left(A\left(t, x^{0}(t), \lambda^{n}\right)-A\left(t, x^{0}(t), \lambda^{0}\right)\right)+\left(B^{0}-B^{n}\right) x^{0}(t) \\
\quad \quad+g\left(t, x^{n}(t), \lambda^{n}\right)-g\left(t, x^{0}(t), \lambda^{0}\right), \\
x^{n}(0)-x^{0}(0)=0 .
\end{array}\right.
$$

Scalar multiplying the first equation of (3.2) on either side by $y^{n}$ and using Young's inequality, we have

$$
\begin{aligned}
\frac{1}{2}\left\|y^{n}(t)\right\|_{H}^{2} & +c\left\|y^{n}\right\|_{L_{p}^{t}(V)}^{p} \leqslant|a| \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+L(b) \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}\left\|y^{n}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
& +\int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}\left\|y^{n}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
& +\int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}\left\|y^{n}(\sigma)\right\|_{V} d \sigma \\
\leqslant & |a| \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+\frac{L(b)}{2 \varepsilon} \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+\frac{L(b) \varepsilon}{2} \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma \\
& +\frac{1}{2 \varepsilon} \int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma+\varepsilon \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma \\
& +\frac{1}{2 \varepsilon} \int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
\leqslant & \left(|a|+\frac{L(b)}{2 \varepsilon}\right) \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+\frac{\varepsilon(L(b)+2)}{2} \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma \\
& +\frac{1}{2 \varepsilon} \int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
& +\frac{1}{2 \varepsilon} \int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma .
\end{aligned}
$$

Choosing $\varepsilon>0$ sufficiently small and the compact embedding $L_{p}^{t}(V) \hookrightarrow L_{2}^{t}(V)$ with an embedding constant $b^{\prime}$, we obtain

$$
\begin{aligned}
\left\|y^{n}(t)\right\|_{H}^{2}+2 c\left\|y^{n}\right\|_{L_{P}^{t}(V)}^{p} \leqslant & \left(2|a|+\frac{L(b)}{\varepsilon}\right) \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& +L_{2} \varepsilon \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{V}^{p} \mathrm{~d} \sigma+\frac{1}{\varepsilon} \int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
& +\frac{1}{\varepsilon} \int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma,
\end{aligned}
$$

where $L_{2}=(L(b)+2) b^{\prime}$. Taking $\varepsilon=\frac{c}{L_{2}}$, we have

$$
\begin{aligned}
\left\|y^{n}(t)\right\|_{H}^{2}+c\left\|y^{n}\right\|_{L_{p}^{t}(V)}^{p} \leqslant & \left(2|a|+\frac{L_{2} L(b)}{c}\right) \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma \\
& +\frac{L_{2}}{c}\left(\int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right. \\
& \left.+\int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right)
\end{aligned}
$$

Defining

$$
\psi^{n}(t)=\left\|y^{n}(t)\right\|_{H}^{2}+c \int_{0}^{t}\left\|y^{n}(\sigma)\right\|_{V}^{p} \mathrm{~d} \sigma
$$

it follows from the above inequality that

$$
\psi^{n}(t) \leqslant\left(2|a|+\frac{L_{2} L(b)}{c}\right) \int_{0}^{t} \psi^{n}(\sigma) \mathrm{d} \sigma+K_{n}(t)
$$

where

$$
\begin{aligned}
K_{n}(t)= & \frac{L_{2}}{c}\left(\int_{0}^{t}\left\|\left(B^{0}-B^{n}\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right. \\
& \left.+\int_{0}^{t}\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right)
\end{aligned}
$$

Using Gronwall's lemma, one concludes that

$$
\begin{equation*}
\psi^{n}(t) \leqslant \exp \left(\left(2|a|+\frac{L_{2} L(b)}{c}\right) T\right) K_{n}(t) \tag{3.3}
\end{equation*}
$$

for all $t \in I$. Since $\lambda^{n} \rightarrow \lambda^{0} \in Q_{m}, B^{n} \rightarrow B^{0} \in \mathscr{L}_{s}\left(V, V^{*}\right)$, and $x^{0} \in L_{p}(I, V)$, it is clear that $\left\|\left(B^{0}-B^{n}\right) x^{0}\right\|_{V^{*}} \rightarrow 0$ almost everywhere on $I$ and there exists a finite number $\gamma$ such that

$$
\left\|\left(B^{0}-B^{n}\right) x^{0}(t)\right\|_{V^{*}} \leqslant \gamma\left\|x^{0}(t)\right\|_{V} \quad \text { for all } t \in I
$$

On the other hand, since $\lambda \rightarrow g(\cdot, \cdot, \lambda)$ is continuous, we get

$$
\left\|g\left(\sigma, x^{0}(\sigma), \lambda^{n}\right)-g\left(\sigma, x^{0}(\sigma), \lambda^{0}\right)\right\|_{V^{*}} \rightarrow 0
$$

almost everywhere on $I$. Thus by the Lebesgue dominated convergence theorem, it follows that $\psi^{n}(t) \rightarrow 0$ as $n \rightarrow \infty$ uniformly on $I$. Hence one may conclude from (3.3) that $x^{n} \rightarrow x^{0}$ in $C(I, H)$ as well as in $L_{p}(I, V)$, and in particular $x^{n}(t) \rightarrow x^{0}(t)$ in $H$ for all $t \in I$. This proves the continuity of the $\operatorname{map}(\lambda, B) \rightarrow x(\lambda, B)$ as desired.

Define

$$
J\left(\lambda^{n}, B^{n}\right)=\int_{I} f\left(t, x^{n}(t), \lambda^{n}\right) \mathrm{d} t \quad \text { and } \quad J\left(\lambda^{0}, B^{0}\right)=\int_{I} f\left(t, x^{0}(t), \lambda^{0}\right) \mathrm{d} t
$$

where $x^{n}$ and $x^{0}$ are the solutions of the system (2.1) corresponding to $\left(\lambda^{n}, B^{n}\right)$ and $\left(\lambda^{0}, B^{0}\right)$, respectively. Since, by assumption $\mathrm{H}(f)$, for almost all $t \in I, x \rightarrow f(t, x, \cdot)$ is continuous on $H$, we have

$$
f\left(t, x^{0}(t), \lambda^{0}\right) \leqslant \liminf _{n} f\left(t, x^{n}(t), \lambda^{n}\right) \text { almost everywhere on } I,
$$

and consequently, by Fatou's lemma,

$$
\int_{I} f\left(t, x^{0}(t), \lambda^{0}\right) \mathrm{d} t \leqslant \liminf _{n} \int_{I} f\left(t, x^{n}(t), \lambda^{n}\right) \mathrm{d} t
$$

Clearly, this is equivalent to

$$
J\left(\lambda^{0}, B^{0}\right) \leqslant \liminf _{n} J\left(\lambda^{n}, B^{n}\right)
$$

This completes the proof of the lemma.

Lemma 3.2. The set $\mathscr{P}_{a, b}$ considered as a subset of $\mathscr{L}\left(V, V^{*}\right)$ is sequentially compact in the strong operator topology $\tau_{\text {so }}$.

Proof. For proof, see Lemma 1.2 of [3].

Theorem 3.1. Suppose that assumptions $\mathrm{H}(A), \mathrm{H}(g), \mathrm{H}(\lambda)$ and $\mathrm{H}(f)$ hold. Then there exists $\left(\lambda^{0}, B^{0}\right) \in Q_{m} \times \mathscr{P}_{a, b}$ such that

$$
J\left(\lambda^{0}, B^{0}\right) \leqslant J(\lambda, B) \quad \text { for all }(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}
$$

Proof. Define $l=\inf \left\{J(\lambda, B),(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}\right\}$. Since $f(t, x, \lambda)>-\infty$ for $(t, x) \in I \times H$, the infimum is well defined and $l>-\infty$. Let $\left\{\left(\lambda^{k}, B^{k}\right)\right\}$ be a minimizing sequence from $Q_{m} \times \mathscr{P}_{a, b}$, i.e., $\lim _{k} J\left(\lambda^{k}, B^{k}\right)=l$. Then by Lemma 3.2, there exists $\left\{\left(\lambda^{k_{i}}, B^{k_{i}}\right)\right\} \subset\left\{\left(\lambda^{k}, B^{k}\right)\right\}$ relabeled as $\left\{\left(\lambda^{k}, B^{k}\right)\right\}$ and a $\left(\lambda^{0}, B^{0}\right) \in$ $Q_{m} \times \mathscr{P}_{a, b}$ such that $\lambda^{k} \rightarrow \lambda^{0} \in Q_{m}, B^{k} \rightarrow B^{0} \in \mathscr{P}_{a, b}\left(\tau_{\text {so }}\right)$. Since $(\lambda, B) \rightarrow J(\lambda, B)$ is lower semicontinuous on $Q_{m} \times \mathscr{P}_{a, b}$ (see Lemma 3.1), we have

$$
l \leqslant J\left(\lambda^{0}, B^{0}\right) \leqslant \liminf _{k} J\left(\lambda^{k}, B^{k}\right) \leqslant \lim _{k} J\left(\lambda^{k}, B^{k}\right)=l .
$$

Hence $J\left(\lambda^{0}, B^{0}\right)=l$ implies that $J(\cdot, \cdot)$ attains its infimum on $Q_{m} \times \mathscr{P}_{a, b}$. This completes the proof.

## 4. Necessary conditions of optimality

We consider necessary conditions of optimality for the identification problem (P). We note that usually the mapping $(\lambda, B) \rightarrow x(\lambda, B)$ from $Q_{m} \times \mathscr{L}\left(V, V^{*}\right)$ to $L_{p}(I, V)$ is unique. In this section we assume that $p=q=2$ and $L_{+}^{p}=\left\{x(\cdot) \in L^{p}: x(\cdot) \geqslant 0\right\}$, $p=1,2, \infty$. In order to derive the necessary optimality conditions, we need some additional assumptions
$\mathrm{H}(A)_{1} A: I \times V \times Q_{m} \rightarrow V^{*}$ is an operator.
(1) $A$ satisfies condition $\mathrm{H}(A)$.
(2) $x \rightarrow A(t, x, \lambda)$ is continuously Frechét differentiable and strong uniformly monotone in $t \in I$.
(3) $\left\|A_{x}^{\prime}(t, x, \lambda)\right\|_{V^{*}} \leqslant a_{1}(t)+b_{1}(t)\|x\|_{V}$ a.e. $a_{1}(\cdot) \in L_{+}^{2}, b_{1}(\cdot) \in L_{+}^{\infty}$ and $\left\langle A_{x}^{\prime}(t, x, \lambda) h, h\right\rangle \geqslant \beta\|h\|_{V}^{2}$ a.e. $\beta>0, h \in V$.
(4) $\lambda \rightarrow A(t, x, \lambda)$ is continuously Frechét differentiable and $\left\|A_{\lambda}^{\prime}(t, x, \lambda)\right\|_{V^{*}} \leqslant$ $\delta_{1}$ a.e. $\delta>0$.
(5) $A_{x}^{\prime}(t, x, \lambda)$ is continuous on $Q_{m}$.
$\mathrm{H}(g)_{1} g: I \times H \times Q_{m} \rightarrow V^{*}$ is a map.
(1) $g$ satisfies condition $\mathrm{H}(g)$.
(2) $x \rightarrow g(t, x, \lambda)$ is Frechét differentiable, $\left\langle g_{x}^{\prime}(t, x, \lambda) h, h\right\rangle \leqslant 0$ a.e. and $\left\|g_{x}^{\prime}(t, x, \lambda)\right\|_{V^{*}} \leqslant a_{2}(t)+b_{2}\|x\|_{H}$ a.e. $a_{2}(\cdot) \in L_{+}^{2}, b_{2}>0$.
(3) $\lambda \rightarrow g(t, x, \lambda)$ is Frechét differentiable, $\left\|g_{\lambda}^{\prime}(t, x, \lambda)\right\| \leqslant \delta_{2}$ a.e., $\delta_{2}>0$.
(4) $(x, \lambda) \rightarrow g_{x}^{\prime}(t, x, \lambda)$ is continuous and $(x, \lambda) \rightarrow g_{\lambda}^{\prime}(t, x, \lambda)$ is continuous.
$\mathrm{H}(f)_{1} f: I \times H \times Q_{m} \rightarrow \mathbb{R}^{+}$is an integrable function.
(1) $f$ satisfies condition $\mathrm{H}(f)$.
(2) $x \rightarrow f(t, x, \lambda)$ is Frechét differentiable and $(x, \lambda) \rightarrow f_{x}^{\prime}(t, x, \lambda)$ is continuous.
(3) $\lambda \rightarrow f(t, x, \lambda)$ is Frechét differentiable and $(x, \lambda) \rightarrow f_{\lambda}^{\prime}(t, x, \lambda)$ is continuous.
(4) $\left\|f_{x}^{\prime}(t, x, \lambda)\right\|_{H} \leqslant a_{3}(t)+b_{3}(t)\|x\|_{H}^{2}$ a.e. with $a_{3}(\cdot) \in L_{+}^{1}, b_{3}(\cdot) \in L_{+}^{\infty}$ and $\left\|f_{\lambda}^{\prime}(t, x, \lambda)\right\|_{H} \leqslant \delta_{3}$ a.e. $\delta_{3}>0$.
For the proof of necessary conditions of optimality, we shall make use of the Gâteaux differential of $x(\lambda, B)$ with respect to the parameter and operator $(\lambda, B)$. Indeed, we show that the Gâteaux differential of $x$ at $\left(\lambda^{0}, B^{0}\right)$ in the direction $\left(\lambda-\lambda^{0}\right.$, $B-B^{0}$ ) defined by

$$
\begin{aligned}
& \hat{x}\left(\lambda^{0}, B^{0} ; \lambda-\lambda^{0}, B-B^{0}\right) \\
& \quad=w-\lim _{\varepsilon \rightarrow 0} \frac{x\left(\lambda^{0}+\varepsilon\left(\lambda-\lambda^{0}\right), B^{0}+\varepsilon\left(B-B^{0}\right)\right)-x\left(\lambda^{0}, B^{0}\right)}{\varepsilon}
\end{aligned}
$$

exists and that it is the solution of a related differential equation.

In the next lemma we present the Gâteaux differentiability of the mapping $(\lambda, B) \rightarrow x(\lambda, B)$ in the weak sense.

Lemma 4.1. Consider system (2.1) and suppose that assumptions $\mathrm{H}(A)_{1}, \mathrm{H}(g)_{1}$ and $\mathrm{H}(f)_{1}$ hold. Let $x(\lambda, B)$ denote the (weak) solution of the problem (2.1) corresponding to $(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}$. Then at each point $(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}$ the function $(\lambda, B) \rightarrow x(\lambda, B)$ has a weak Gâteaux differential in the direction $\left(\lambda-\lambda^{0}, B-B^{0}\right)$, denoted $\hat{x}\left(\lambda^{0}, B^{0} ; \lambda-\lambda^{0}, B-B^{0}\right)$, and it is the solution of the Cauchy problem

$$
\left\{\begin{array}{l}
\dot{e}+A_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) e+B^{0} e-g_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) e  \tag{4.1}\\
\quad=-A_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right)+\left(B^{0}-B\right) x^{0}+g_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right) \\
e(0)=0
\end{array}\right.
$$

satisfying $\hat{x} \in L_{2}(I, V) \cap L_{\infty}(I, H)$, where $x^{0}=x\left(\lambda^{0}, B^{0}\right)$ is the solution of (2.1) corresponding to $\lambda=\lambda^{0}, B=B^{0}$. Here,

$$
\begin{aligned}
A_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) & =w-\lim _{\varepsilon \rightarrow 0} \frac{A\left(t, x^{\varepsilon}, \lambda^{0}\right)-A\left(t, x^{0}, \lambda^{0}\right)}{x^{\varepsilon}-x^{0}}, \\
A_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right) & =w-\lim _{\varepsilon \rightarrow 0} \frac{A\left(t, x^{0}, \lambda^{\varepsilon}\right)-A\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon}, \\
g_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) & =w-\lim _{\varepsilon \rightarrow 0} \frac{g\left(t, x^{\varepsilon}, \lambda^{0}\right)-g\left(t, x^{0}, \lambda^{0}\right)}{x^{\varepsilon}-x^{0}}
\end{aligned}
$$

and

$$
g_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right)=w-\lim _{\varepsilon \rightarrow 0} \frac{g\left(t, x^{0}, \lambda^{\varepsilon}\right)-g\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon}
$$

Proof. Let $\left(\lambda^{0}, B^{0}\right),(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}$. Since $Q_{m} \times \mathscr{P}_{a, b}$ is a closed convex subset of $Q_{m} \times \mathscr{L}\left(V, V^{*}\right)$, we have $\left(\lambda^{\varepsilon}, b^{\varepsilon}\right) \in Q_{m} \times \mathscr{P}_{a, b}$, where $\lambda^{\varepsilon}=\lambda^{0}+\varepsilon\left(\lambda-\lambda^{0}\right)$, $B^{\varepsilon}=B^{0}+\varepsilon\left(B-B^{0}\right), x^{\varepsilon}=x\left(\lambda^{\varepsilon}, B^{\varepsilon}\right)$ and $x^{0}=x\left(\lambda^{0}, B^{0}\right)$ for $0 \leqslant \varepsilon \leqslant 1$. Using (2.1) and defining $\varphi^{\varepsilon} \equiv\left(x^{\varepsilon}-x^{0}\right) / \varepsilon$, we obtain

$$
\begin{gather*}
\dot{\varphi}^{\varepsilon}+\frac{A\left(t, x^{\varepsilon}, \lambda^{\varepsilon}\right)-A\left(t, x^{0}, \lambda^{\varepsilon}\right)}{\varepsilon}+B^{\varepsilon} \varphi^{\varepsilon}-\frac{g\left(t, x^{\varepsilon}, \lambda^{\varepsilon}\right)-g\left(t, x^{0}, \lambda^{\varepsilon}\right)}{\varepsilon}  \tag{4.2}\\
=-\frac{A\left(t, x^{0}, \lambda^{\varepsilon}\right)-A\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon}+\left(B^{0}-B\right) x^{0}+\frac{g\left(t, x^{0}, \lambda^{\varepsilon}\right)-g\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon} \\
\varphi^{\varepsilon}(0)=0
\end{gather*}
$$

Scalar multiplying both sides of the first equation of (4.2) by $\varphi^{\varepsilon}$ and using the assumptions, we have
(4.3) $\frac{1}{2}\left\|\varphi^{\varepsilon}(t)\right\|_{H}^{2}+\int_{0}^{t}\left\langle A_{x}^{\prime}\left(\sigma, x^{0}(\sigma)+\varepsilon \mu_{1}\left(x^{\varepsilon}(\sigma)-x^{0}(\sigma)\right), \lambda^{\varepsilon}\right) \varphi^{\varepsilon}(\sigma), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma$

$$
\begin{aligned}
& +\int_{0}^{t}\left\langle B^{\varepsilon} \varphi^{\varepsilon}(\sigma), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma \\
= & \int_{0}^{t}\left\langle\left(B^{0}-B\right) x^{0}(\sigma), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma \\
& +\int_{0}^{t}\left\langle-A_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \mu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma \\
& +\int_{0}^{t}\left\langle g_{x}^{\prime}\left(\sigma, x^{0}(\sigma)+\varepsilon \nu_{1}\left(x^{\varepsilon}(\sigma)-x^{0}(\sigma)\right), \lambda^{\varepsilon}\right) \varphi^{\varepsilon}(\sigma), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma \\
& +\int_{0}^{t}\left\langle g_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \nu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right), \varphi^{\varepsilon}(\sigma)\right\rangle \mathrm{d} \sigma,
\end{aligned}
$$

where $\mu_{1}, \mu_{2}, \nu_{1}, \nu_{2} \in[0,1]$.
Using assumptions $\mathrm{H}(A)_{1}, \mathrm{H}(g)_{1}$ and $\mathscr{P}_{a, b}$ in (4.3), we obtain
(4.4) $\frac{1}{2}\left\|\varphi^{\varepsilon}(t)\right\|_{H}^{2}+\beta \int_{0}^{t}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma$

$$
\begin{aligned}
\leqslant & a \int_{0}^{t}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+\int_{0}^{t}\left\|\left(B^{0}-B\right) x^{0}(\sigma)\right\|_{V^{*}}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
& +\int_{0}^{t}\left\|A_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \mu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V} \mathrm{~d} \sigma \\
& +\int_{0}^{t}\left\|g_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \nu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V} \mathrm{~d} \sigma
\end{aligned}
$$

Using the inequality $a b=\sqrt{\frac{\beta}{3}} a \sqrt{\frac{3}{\beta}} b \leqslant \frac{1}{2}\left(\frac{\beta}{3} a^{2}+\frac{3}{\beta} b^{2}\right)$ in (4.4), we have

$$
\begin{align*}
\left\|\varphi^{\varepsilon}(t)\right\|_{H}^{2} & +\beta \int_{0}^{t}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma  \tag{4.5}\\
\leqslant & 2 a \int_{0}^{t}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{H}^{2} \mathrm{~d} \sigma+\frac{3}{\beta} \int_{0}^{t}\left\|\left(B^{0}-B\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
& +\frac{3}{\beta} \int_{0}^{t}\left\|A_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \mu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
& +\frac{3}{\beta} \int_{0}^{t}\left\|g_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \nu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma .
\end{align*}
$$

Using Gronwall's lemma in (4.5), we conclude that

$$
\begin{align*}
&\left\|\varphi^{\varepsilon}(t)\right\|_{H}^{2}+\beta \int_{0}^{t}\left\|\varphi^{\varepsilon}(\sigma)\right\|_{V}^{2} \mathrm{~d} \sigma  \tag{4.6}\\
& \leqslant \frac{3}{\beta} \exp (2|a| T)\left(\int_{0}^{t}\left\|\left(B^{0}-B\right) x^{0}(\sigma)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right. \\
&+\int_{0}^{t}\left\|A_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \mu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma \\
&\left.+\int_{0}^{t}\left\|g_{\lambda}^{\prime}\left(\sigma, x^{0}(\sigma), \lambda^{0}+\varepsilon \nu_{2}\left(\lambda-\lambda^{0}\right) ; \lambda-\lambda^{0}\right)\right\|_{V^{*}}^{2} \mathrm{~d} \sigma\right)
\end{align*}
$$

for all $\varepsilon \in[0,1]$. Since $\varepsilon \mu_{2}, \varepsilon \nu_{2} \in[0,1]$, it follows from assumptions $\mathrm{H}(A)_{1}$ and $\mathrm{H}(g)_{1}$ and the definition of $\mathscr{P}_{a, b}$ that the right terms in (4.6) are well defined. This shows that $\left\{\varphi^{\varepsilon}, 0 \leqslant \varepsilon \leqslant 1\right\}$ is contained in a bounded subset of $L_{\infty}(I, H) \cap L_{2}(I, V)$. Since $L_{2}(I, V)$ is a reflexive Banach space, we can extract a subsequence $\left\{\varphi^{n}\right\} \equiv$ $\left\{\varphi^{\varepsilon_{n}}\right\} \subset\left\{\varphi^{\varepsilon}\right\}$ with $\varepsilon_{n} \in[0,1]$ and $\varepsilon_{n} \rightarrow 0$, and a $\varphi^{0} \in L_{2}(I, V)$ such that $\varphi^{n} \xrightarrow{w} \varphi^{0}$ in $L_{2}(I, V)$. This proves that the Gâteaux differential of $x$ exists and is given by $\hat{x}\left(\lambda^{0}, B^{0} ; \lambda-\lambda^{0}, B-B^{0}\right) \equiv \varphi^{0}$. It remains to show that $\varphi^{0}$ is a solution of (4.1). Indeed, since

$$
\begin{aligned}
& \frac{A\left(t, x^{n}, \lambda^{n}\right)-A\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon} \xrightarrow{w} A_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) \varphi^{0} \text { in } L_{2}\left(I, V^{*}\right), \\
B^{n} \varphi^{n} & =B^{0} \varphi^{n}+\varepsilon_{n}\left(B-B^{0}\right) \varphi^{n} \xrightarrow{w} B^{0} \varphi^{0} \text { in } L_{2}\left(I, V^{*}\right), \\
& \frac{A\left(t, x^{0}, \lambda^{n}\right)-A\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon} \xrightarrow{w} A_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right) \text { in } L_{2}\left(I, V^{*}\right), \\
& \frac{g\left(t, x^{n}, \lambda^{n}\right)-g\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon} \xrightarrow{w} g_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) \varphi^{0} \text { in } L_{2}\left(I, V^{*}\right), \\
& \frac{g\left(t, x^{0}, \lambda^{n}\right)-g\left(t, x^{0}, \lambda^{0}\right)}{\varepsilon} \xrightarrow{w} g_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right) \text { in } L_{2}\left(I, V^{*}\right),
\end{aligned}
$$

it follows from (4.2) that $\dot{\varphi}^{n} \in L_{2}\left(I, V^{*}\right)$ and $\dot{\varphi}^{n} \xrightarrow{w} \eta$ in $L_{2}\left(I, V^{*}\right)$ for suitable $\eta \in L_{2}\left(I, V^{*}\right)$, and that is the distributional derivative of $\varphi^{0}$. Hence $\varphi^{0}$ satisfies the equality

$$
\begin{gathered}
\dot{\varphi}^{0}+A_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) \varphi^{0}+B^{0} \varphi^{0}-g_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right) \varphi^{0} \\
=-A_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right)+\left(B^{0}-B\right) x^{0}+g_{\lambda}^{\prime}\left(t, x^{0}, \lambda^{0} ; \lambda-\lambda^{0}\right)
\end{gathered}
$$

in the sense of vector-valued distributions in $V^{*}$. Since $\varphi^{0} \in L_{2}(I, V)$ and $\dot{\varphi}^{0} \in$ $L_{2}\left(I, V^{*}\right)$, it is clear that $\varphi^{0} \in C(I, H)$ and $\varphi^{0}(0)$ is well defined and equals $\varphi^{n}(0)=0$ for all $n$. Hence $\varphi^{0}$ satisfies the differential equation (4.1) and one may identify $\varphi^{0}$ as $e$. This completes the proof.

With the help of Lemma 4.1, we derive the following necessary conditions for optimality.

Theorem 4.1. Suppose that assumptions $\mathrm{H}(A)_{1}, \mathrm{H}(g)_{1}$ and $\mathrm{H}(f)_{1}$ hold. Consider system (2.1) and the identification problem (P) with

$$
J(\lambda, B)=\int_{I} f(t, x(\lambda, B)(t), \lambda) \mathrm{d} t
$$

Then in order that $\left(\lambda^{0}, B^{0}\right) \in Q_{m} \times \mathcal{P}_{a, b}$ be the optimal pair for the unknown parameter and the unknown operator, it is necessary that there exist a pair $\left\{x^{0}, z^{0}\right\} \in$ $C(I, H) \times C(I, H)$ satisfying the system of equations

$$
\left\{\begin{array}{l}
\dot{x}+A\left(t, x, \lambda^{0}\right)+B^{0} x=g\left(t, x, \lambda^{0}\right)  \tag{4.7}\\
x(0)=x_{0}, \lambda^{0} \in Q_{m}, B^{0} \in \mathscr{P}_{a, b}
\end{array}\right.
$$

the adjoint equation

$$
\left\{\begin{array}{l}
-\dot{z}+\left(A_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right)\right)^{*} z+\left(B^{0}\right)^{*} z-\left(g_{x}\left(t, x^{0}, \lambda^{0}\right)\right)^{*} z=f_{x}^{\prime}\left(t, x^{0}, \lambda^{0}\right)  \tag{4.8}\\
z(T)=0, \forall t \in[0, T)
\end{array}\right.
$$

and the inequality

$$
\begin{align*}
& \int_{I}\left\langle-A_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right), z^{0}(t)\right\rangle_{V, V^{*}} \mathrm{~d} t+\int_{I}\left\langle\left(B^{0}-B\right) x^{0}(t), z^{0}(t)\right\rangle_{V, V^{*}} \mathrm{~d} t  \tag{4.9}\\
& +\int_{I}\left\langle g_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right), z^{0}(t)\right\rangle_{V, V^{*}} \mathrm{~d} t+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \geqslant 0
\end{align*}
$$

for all $\lambda \in Q_{m}, B \in \mathscr{P}_{a, b}$.
Proof. Since $(\lambda, B) \rightarrow x(\lambda, B)$ has a (weak) Gâteaux differential on $Q_{m} \times \mathscr{P}_{a, b}$, it follows that $J(\cdot, \cdot)$ as defined above also has a Gâteaux differential. Denote $x^{0} \equiv$ $x\left(\lambda^{0}, B^{0}\right)$. Then in order that $J(\cdot, \cdot)$ attain its minimum at $\left(\lambda^{0}, B^{0}\right) \in Q_{m} \times \mathscr{P}_{a, b}$, it is necessary that

$$
J^{\prime}\left(\lambda^{0}, B^{0} ; \lambda-\lambda^{0}, B-B^{0}\right) \equiv \lim _{\varepsilon \rightarrow 0} \frac{J\left(\lambda^{\varepsilon}, B^{\varepsilon}\right)-J\left(\lambda^{0}, B^{0}\right)}{\varepsilon} \geqslant 0
$$

for all $(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}$. Using the result of Lemma 4.1, it follows from the above that

$$
\begin{align*}
& J^{\prime}\left(\lambda^{0}, B^{0} ; \lambda-\lambda^{0}, B-B^{0}\right)  \tag{4.11}\\
& =\int_{I}\left\langle f_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right), \varphi^{0}(t)\right\rangle \mathrm{d} t+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \geqslant 0
\end{align*}
$$

for all $(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}$, where $\varphi^{0}(t)$ is the Gâteaux differential as given by Lemma 4.1. Using (4.1) and (4.11), we obtain the adjoint equation (4.8). Reversing the flow of time $t \rightarrow T-t$, it follows from Theorem 2.1 that the system (4.8) also has a unique weak solution $z^{0} \in L_{2}(I, V) \cap C(I, H)$. Utilizing (4.8), (4.11) and integrating by parts, we obtain

$$
\begin{align*}
& \int_{I}\left\langle\dot{\varphi}^{0}(t)+A_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right) \varphi^{0}(t)+B^{0} \varphi^{0}(t)-g_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right) \varphi^{0}(t), z^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t  \tag{4.12}\\
& \quad+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \geqslant 0, \forall(\lambda, B) \in Q_{m} \times \mathscr{P}_{a, b}
\end{align*}
$$

From (4.8) and (4.12), we obtain

$$
\begin{aligned}
& \int_{I}\left\langle f_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right), \varphi^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \\
&= \int_{I}\left\langle\dot{\varphi}^{0}(t)+A_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right) \varphi^{0}(t)+B^{0} \varphi^{0}(t)-g_{x}^{\prime}\left(t, x^{0}(t), \lambda^{0}\right) \varphi^{0}(t), z^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t \\
&+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \\
&=-\int_{I}\left\langle A_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right), z^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t+\int_{I}\left\langle\left(B-B^{0}\right) x^{0}(t), z^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t \\
& \quad+\int_{I}\left\langle g_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right), z^{0}(t)\right\rangle_{V^{*}, V} \mathrm{~d} t+\int_{I} f_{\lambda}^{\prime}\left(t, x^{0}(t), \lambda^{0} ; \lambda-\lambda^{0}\right) \mathrm{d} t \geqslant 0
\end{aligned}
$$

for all $\lambda \in Q_{m}, B \in \mathscr{P}_{a, b}$. Hence we obtain (4.9), which completes the proof.

## References

[1] N. U. Ahmed: Optimization and Identification of Systems Governed by Evolution Equations on Banach Space. Pitman Res. Notes Math. Ser. 184. Longman, Harlow, 1988.
[2] N. U. Ahmed: Optimal control of infinite-dimensional systems governed by functional differential inclusions. Disc. Math. Diff. Inclusions 15 (1995), 75-94.
[3] N. U. Ahmed and K. L. Teo: Optimal Control of Distributed Parameter Systems. NorthHolland, Amsterdam, 1981.
[4] N. U. Ahmed and X. Xing: Nonlinear uncertain systems and necessary conditions of optimality. SIAM J. Control Optim. 35 (1997), 1755-1772.
[5] V. Barbu: Analysis and Control of Nonlinear Infinite Dimensional Systems. Academic press, INC, Boston-Sandiego-New York-London-Sydney-Tokyo-Toronto, 1993.
[6] R. Dautray and J. L. Lions: Mathematical Analysis and Numerical Methods for Science and Technology, Vol. 5. Springer-Verlag, Berlin-Heidelberg, 1992.
[7] N. U. Papageorgionu: Nonlinear Volterra integrodifferential evolution inclusions and optimal control. Kodai Math. J. 14 (1991), 254-280.
[8] N. U. Papageorgionu: Identification of parameters in systems governed by nonlinear evolution equations. Publ. Math. Debrecen 46 (1995), 215-237.
[9] N. U. Papageorgionu: On the optimal control of strongly nonlinear evolution equations. J. Math. Anal. Appl. 164 (1992), 83-103.
[10] J. Y. Park, J. H. Ha and H. K. Han: Identification problem for damping parameters in linear damped second order systems. J. Korean Math. Soc. 34 (1997), 895-909.
[11] J. Y. Park, Y. H. Kang and I. H. Jung: Optimization and identification of nonlinear systems on Banach space. Indian J. Pure Appl. 32 (2001), 633-647.
[12] J. Y. Park, Y. H. Kang and M. J. Lee: Optimal control problem for the nonlinear hyperbolic systems. RIMS Kokyuroku 1187 (2001), 27-36.
[13] E. Zeidler: Nonlinear functional analysis and its applications, II. Springer-Verlag, New York, 1990.

Authors' address: Department of Mathematics, Pusan National University, Pusan 609735, Korea, e-mail: jyepark@hyowon.pusan.ac.kr.


[^0]:    This work was supported by grant No. R02-2000-00019 from the Basic Research Program

